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Industrial Use
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ETEY4SM Electrical Characteristics (Ta=25 °C)

IH 5 % @ # MIN. | TYP. | MAX. | # ff
o — b Lo BPER | Iaoss Vos =—20 V, Vps=0 ~1.5 | —100 | pA
v — + B OH | I Vps =10 V, Ip=200 uA ~1.0 — 50 pA
K L 4 > B K | Ibss Vps =10 V, Vgs=0 0.5 2.0 5. 0 mA
how b A 7 B Voswoin | Vos=10 V, Ip=10 uA —0.2 | —1.0 | —2.5 Y
BEEZT F I 7> 2 | yis | Vos=10 V, Ip=0.5 mA, f=1kHz| 1.0 2.0 , nS
AT R Z R | Vsl Vos=10 V, Ip=0.5 mA, f=1 kHz 4.0 uS
A Hh B B Ciss Vos=10 V, Ves=0, f=1.0 MHz 50 | pF
m B F = Crss Ws=10 V, Ves=0, {=1.0 MHz 1.5 pF

W PAT0A,7T1A | en Vos=10 V, Ip=0.2 mA, f=1kHz 20 nV/,/ Hz
HEE T uwPAT0A(A) en Vs=10 V, Ip=0.2 mA, f=1kHz 10 nV/,/ Hz
uPATIA(A) | o, Vos=10 V, Ip=0.2 mA, =10 Hz 20 | nV//Hz

7'y F > 745 /Matching Characteristics (Ta=25 °C)

4 PAT0A | uPATIA |
TH G} 2 - pPAT0A(A) | uPATIA(A) | s 4y
MIN. | MAX.| MIN. | MAX.
Fv 4 > &' R H|Ipss/dV/Ipss kK | Vps=10 V, Vgs=0 0.95 | 1.0 | 0.90 | 1.0
WRAZZET F 257> 28| yes UN/lyes IR | Vos=10 V, Ip=0.5 mA, f=1.0 kHz 0.97 | 1.0 | 0.95 | 1.0
o — b B E #E||Vesi— Vosz| Vps=10 V, Ip=0.2 mA - 5 — 40 mV
e N BIEEIBER ] 4 Vo, —Vesy | /4T | Vps=10 V, Ip=0.2 mAEa=25 C~T75C — 10 — 40 | uV/°C |
7 — F BEEBERE| 4 Vos1—Vosz | /4T | Vps=10 V, [p=0.2 mA, Ta=-25C~+25C | — 10 - | 4 uV/C |

IpssX4r Ipss Classification K:0.5~1.5 mA L:1.0—-3.0 mA M:2.0~5.0 mA
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ttEphis (Ta=25 °C)
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